

Research Article

On the Positive Operator Solutions to an Operator Equation

Kai-Fan Yang,¹ Fang-An Deng,¹ and Hong-Ke Du²

¹ School of Mathematics and Computer Science, Shaanxi University of Technology, Shaanxi 723001, China

² College of Mathematics and Information Science, Shaanxi Normal University, Xi'an 710062, China

Correspondence should be addressed to Kai-Fan Yang; ykf201@126.com

Received 3 May 2013; Accepted 9 June 2013

Academic Editors: M. Lindstrom and K. A. Lurie

Copyright © 2013 Kai-Fan Yang et al. This is an open access article distributed under the Creative Commons Attribution License, which permits unrestricted use, distribution, and reproduction in any medium, provided the original work is properly cited.

The necessary conditions and the sufficient condition for the existence of positive operator solutions to the operator equation $X^s + A^* X^{-t} A = Q$ are established. An iterative method for obtaining the positive operator solutions is proposed.

1. Introduction

Let $\mathcal{B}(\mathcal{H})$ be the set of all bounded linear operators on the Hilbert space \mathcal{H} . In this paper, we consider the nonlinear operator equation

$$X^s + A^* X^{-t} A = Q, \quad (1)$$

where $A, Q \in \mathcal{B}(\mathcal{H})$, $Q > 0$, and X is an unknown operator in $\mathcal{B}(\mathcal{H})$. Both s and t are positive integers.

This type of equation often arises from many areas such as dynamic programming [1], control theory [2, 3], stochastic filtering and statistics, and so forth [4, 5]. In the recent years, for matrices, (1) has been considered by many authors (see [6–13]), and different iterative methods for computing the positive definite solutions to (1) are proposed in finite-dimensional space. The case $s = t = 1$ has been extensively studied by several authors. In this paper, we extend the study of the operator equation (1) from a finite-dimensional space to an infinite-dimensional Hilbert space. We derive some necessary conditions for the existence of positive solutions to the operator equation (1). Moreover, conditions under which the operator equation (1) has positive operator solutions are obtained. Based on Banach's fixed-point principle, we obtain the positive operator solution to the operator equation (1). First, we introduce some notations and terminologies, which are useful later. For $A \in \mathcal{B}(\mathcal{H})$, if $(Ax, x) \geq 0$ for all $x \in \mathcal{H}$, then A is said to be a positive operator and is denoted by $A \geq 0$. If A is a positive operator and invertible, then denote $A > 0$.

For A and B in $\mathcal{B}(\mathcal{H})$, $A \geq B$ means that $A - B$ is a positive operator. For $A \in \mathcal{B}(\mathcal{H})$, A^* , $\omega(A)$, $\sigma(A)$, and $r(A)$ denote the adjoint, the radius of numerical range, the spectrum, and the spectral radius of A , respectively.

For positive operators in $\mathcal{B}(\mathcal{H})$, the following facts are well known.

- (1) If $P \geq Q > 0$, then $P^{-1} \leq Q^{-1}$.
- (2) Denote $\lambda_{\max}(P) = \max\{\lambda : \lambda \in \sigma(P), P > 0\}$, $\lambda_{\min}(P) = \min\{\lambda : \lambda \in \sigma(P), P > 0\}$. Then $\lambda_{\min}(P)I \leq P \leq \lambda_{\max}(P)I$.
- (3) If the sequence $\{X_n\}_{n=1}^{+\infty}$ of positive operator is monotonically increasing and has upper bound, that is, $X_k \leq X_{k+1} \leq C_1$, or is monotonically decreasing and has lower bound, that is, $C_2 \leq X_{k+1} \leq X_k$, then this sequence is convergent to a positive limit operator, where $C_1, C_2 \in \mathcal{B}(\mathcal{H})$ are given operators.

2. Main Results and Proofs

In order to prove our main result, we begin with some lemmas as follows.

Lemma 1. Let $A, B \in \mathcal{B}(\mathcal{H})$. If $A \geq B \geq 0$, then $\|A\| \geq \|B\|$.

Lemma 2. Let A and B be self-adjoint operators in $\mathcal{B}(\mathcal{H})$. If $A \leq B$, then, for every $T \in \mathcal{B}(\mathcal{H})$, one has $T^*AT \leq T^*BT$.

In this section, we give our main results and proofs.

Theorem 3. If the operator equation (1) has a positive operator solution X , then (1) $\sqrt[t]{AQ^{-1}A^*} \leq X \leq \sqrt[t]{Q}$ and (2) $r(A) \leq (bt/(s+t))^{t/2s}(bs/(s+t))^{1/2}$, where $b = \|Q\|$.

Proof. (1) If the operator equation (1) has a positive operator solution X , then $0 \leq A^*X^{-t}A \leq Q$. Hence, we obtain $X^s \leq Q$; that is, $X \leq \sqrt[t]{Q}$. From $A^*X^{-t}A \leq Q$, it follows that

$$\begin{aligned} Q^{-1/2}A^*X^{-t/2}X^{-t/2}AQ^{-1/2} &\leq I, \\ X^{-t/2}AQ^{-1/2}Q^{-1/2}A^*X^{-t/2} &\leq I, \\ AQ^{-1}A^* &\leq X^t. \end{aligned} \quad (2)$$

That is, $X \geq \sqrt[t]{AQ^{-1}A^*}$.

(2) From (1), we have

$$X^{t+s} + X^{t/2}A^*X^{-t}AX^{t/2} = X^{t/2}QX^{t/2} \leq \lambda_{\max}(Q)X^t. \quad (3)$$

Then

$$\begin{aligned} r(A)^2 &= r^2(X^{t/2}AX^{-t/2}) \\ &\leq \|X^{t/2}AX^{-t/2}\|^2 \\ &\leq \|\lambda_{\max}(Q)X^t - X^{t+s}\|. \end{aligned} \quad (4)$$

According to the spectral decomposition of X , we have

$$\lambda_{\max}(Q)X^t - X^{t+s} = \int_{\sigma(X)} (\lambda_{\max}(Q)\lambda^t - \lambda^{t+s}) dE\lambda. \quad (5)$$

Denote $\lambda_{\max}(Q) = \|Q\| = b$. Then

$$\begin{aligned} \|\lambda_{\max}(Q)X^t - X^{t+s}\| &\leq \max_{\lambda \in (0, \sqrt[t]{b})} |b\lambda^t - \lambda^{t+s}| \\ &= \left(\frac{bt}{s+t}\right)^{t/s} \left(\frac{bs}{s+t}\right). \end{aligned} \quad (6)$$

Therefore, $r(A) \leq (bt/(s+t))^{t/2s}(bs/(s+t))^{1/2}$. \square

Theorem 4. If A is invertible and $A^*X^{-t}A \leq Q - (AQ^{-1}A^*)^{s/t}$ for all $X \in [\sqrt[t]{AQ^{-1}A^*}, \sqrt[t]{Q}]$, then (1) has a positive operator solution.

Proof. Let $\Phi(X) = (Q - A^*X^{-t}A)^{1/s}$; then Φ is continuous for $X \in [\sqrt[t]{AQ^{-1}A^*}, \sqrt[t]{Q}]$; $\Phi(X) \leq \sqrt[t]{Q}$; and $\Phi(X) \geq [Q - (Q - (AQ^{-1}A^*)^{s/t})]^{1/s} = (AQ^{-1}A^*)^{1/t}$. So Φ maps $[\sqrt[t]{AQ^{-1}A^*}, \sqrt[t]{Q}]$ into itself. Furthermore, Φ is continuous on $[\sqrt[t]{AQ^{-1}A^*}, \sqrt[t]{Q}]$ because $X > 0$; hence, Φ has a fixed point in $[\sqrt[t]{AQ^{-1}A^*}, \sqrt[t]{Q}]$; that is, there exists $X \geq 0$ such that $(Q - A^*X^{-t}A)^{1/s} = X$; this implies that (1) has a positive operator solution. \square

Theorem 5. If the operator equation (1) has a positive operator solution X , then $\lambda_{\min}(T^*T) \leq (t/(t+s))^{t/s}(s/(t+s))$ and $X \leq \sqrt[t]{\tilde{\alpha}Q}$ when $\lambda_{\min}(T^*T) \neq 1$, where $T = Q^{-t/2s}AQ^{-1/2}$ and $\tilde{\alpha}$ is a solution to the equation $\alpha^{t/s}(1-\alpha) = \lambda_{\min}(T^*T)$ in $[t/(t+s), 1]$.

Proof. We consider the sequence

$$\begin{aligned} \alpha_0 &= 1, \alpha_{k+1} \\ &= 1 \\ &\quad - \frac{\lambda_{\min}\left(\left(Q^{-t/2s}AQ^{-1/2}\right)^*Q^{-t/2s}AQ^{-1/2}\right)}{\alpha_k^{t/s}}, \end{aligned} \quad (7)$$

$k = 0, 1, 2, \dots$

Let X be a positive solution to (1). Then $X^s = Q - A^*X^{-t}A \leq Q = \alpha_0Q$; that is, $X \leq \sqrt[t]{\alpha_0Q}$. Assuming that $X \leq \sqrt[t]{\alpha_kQ}$, then

$$\begin{aligned} X^s &= Q - A^*X^{-t}A \leq Q - \frac{A^*Q^{-t/s}A}{\alpha_k^{t/s}} \\ &= Q^{1/2} \left[I - \frac{Q^{-1/2}A^*Q^{-t/2s}Q^{-t/2s}AQ^{-1/2}}{\alpha_k^{t/s}} \right] Q^{1/2} \leq Q^{1/2} \\ &\quad \times \left[1 - \frac{\lambda_{\min}\left(\left(Q^{-t/2s}AQ^{-1/2}\right)^*Q^{-t/2s}AQ^{-1/2}\right)}{\alpha_k^{t/s}} \right] \\ &\quad \times Q^{1/2} = \alpha_{k+1}Q. \end{aligned} \quad (8)$$

Hence, $X \leq \sqrt[t]{\alpha_nQ}$ for all $n = 0, 1, 2, \dots$. It is straightforward to check that the sequence $\{\alpha_n\}$ is monotonically decreasing; also, $\{\alpha_n\}$ is bounded below; hence, $\{\alpha_n\}$ is convergent. Denote $T = Q^{-t/2s}AQ^{-1/2}$ and let $\lim_{n \rightarrow \infty} \alpha_n = \tilde{\alpha}$; then $\tilde{\alpha} = 1 - \lambda_{\min}(T^*T)/\tilde{\alpha}^{t/s}$; that is, $\tilde{\alpha}$ is a solution to the equation $\alpha^{t/s}(1-\alpha) = \lambda_{\min}(T^*T)$. Let $f(x) = x^{t/s}(1-x)$. Then

$$\max_{x \in [0,1]} f(x) = f\left(\frac{t}{t+s}\right) = \left(\frac{t}{t+s}\right)^{t/s} \left(\frac{s}{t+s}\right). \quad (9)$$

Thus, it follows that $\lambda_{\min}(T^*T) \leq (t/(t+s))^{t/s}(s/(t+s))$.

Since

$$\lambda_{\min}(T^*T) \leq \left(\frac{t}{t+s}\right)^{t/s} \left(\frac{s}{t+s}\right). \quad (10)$$

Then the equation $\alpha^{t/s}(1-\alpha) = \lambda_{\min}(T^*T)$ may have two solutions; one of these solutions is in the interval $[t/(t+s), 1]$.

In order to prove that the limit $\tilde{\alpha}$ of the sequence $\{\alpha_n\}$ is in $[t/(t+s), 1]$, we assume that $\alpha_i \geq t/(t+s)$ (obviously $\alpha_0 = 1 > t/(t+s)$); then

$$\begin{aligned} \alpha_{i+1} &= 1 - \frac{\lambda_{\min}(T^*T)}{\alpha_i^{t/s}} \\ &\geq 1 - \lambda_{\min}(T^*T) \left(\frac{t+s}{t}\right)^{t/s} \\ &\geq 1 - \left(\frac{t}{t+s}\right)^{t/s} \left(\frac{s}{t+s}\right) \left(\frac{t+s}{t}\right)^{t/s} \\ &= \frac{t}{t+s}. \end{aligned} \quad (11)$$

Therefore, $\alpha_i \geq t/(t+s)$ for each $i = 1, 2, \dots$. Since $X \leq \sqrt[t]{\alpha_n Q}$, then $X \leq \sqrt[t]{\tilde{\alpha} Q}$ and $\tilde{\alpha} \in [t/(t+s), 1]$. The proof is completed. \square

Consider the following iterative sequence:

$$\begin{aligned} X_0^s &= \gamma Q, & X_{k+1}^s &= Q - A^* X_k^{-t} A, \\ & & k &= 0, 1, \dots, \gamma > 0. \end{aligned} \quad (12)$$

We will prove the following theorem.

Theorem 6. *If the operator equation (1) has a positive operator solution X , then it has a maximal one X_L . Moreover, the sequence $\{X_i\}$ in (12) for $\gamma \in [\tilde{\alpha}, 1]$ is monotonically decreasing and converges to X_L , where $\tilde{\alpha}$ is defined in Theorem 5.*

Proof. Consider the iterative sequence (12) with $\gamma \in [\tilde{\alpha}, 1]$. According to Theorem 4, we have $X^s \leq \tilde{\alpha} Q \leq \gamma Q = X_0^s$ for any positive operator solution X to (1).

Suppose that $X_i^s \geq X^s$. Then

$$X_{i+1}^s = Q - A^* X_i^{-t} A \geq Q - A^* X^{-t} A = X^s. \quad (13)$$

Hence, $X_i \geq X$ hold for each i . According to the definition of $\tilde{\alpha}$ and the monotonicity of the function $f(x) = x^{t/s}(1-x)$ on $[t/(t+s), 1]$, we have

$$\gamma^{t/s}(1-\gamma)I \leq \tilde{\alpha}^{t/s}(1-\tilde{\alpha})I = \lambda_{\min}(T^*T)I \leq T^*T \quad (14)$$

for all $\gamma \in [\tilde{\alpha}, 1]$, where $T = Q^{-t/2s} A Q^{-1/2}$. We compute

$$\begin{aligned} X_1^s &= Q - A^*(\gamma Q)^{-t/s} A \\ &= Q^{1/2} \left[I - Q^{-1/2} A^*(\gamma Q)^{-t/s} A Q^{-1/2} \right] Q^{1/2} \\ &= Q^{1/2} \left(I - \gamma^{-t/s} T^* T \right) Q^{1/2}. \end{aligned} \quad (15)$$

Using inequality (14) and equality (15), we obtain $X_1^s \leq \gamma Q = X_0^s$.

Assuming that $X_i^s \leq X_{i-1}^s$, then

$$X_{i+1}^s = Q - A^* X_i^{-t} A \leq Q - A^* X_{i-1}^{-t} A = X_i^s. \quad (16)$$

Therefore, $X_{i+1}^s \leq X_i^s$ for all $i = 0, 1, \dots$; that is, the sequence $\{X_n^s\}$ is monotonically decreasing. Hence, $\{X_n^s\}$ converges to the positive operator solution X_L to (1). Since $X_L^s \geq X^s$ for any positive operator solution X , it follows that X_L is the maximal solution. \square

Theorem 7. *Let $\lambda_{\min}(T^*T) < \lambda_{\max}(T^*T) \leq (t/(t+s))^{t/s}(s/(t+s))$, and β_1, β_2 are solutions to the equation $\beta^{t/s}(1-\beta) = \lambda_{\max}(T^*T)$ in $[0, t/(t+s)]$ and $[t/(t+s), 1]$, respectively. Then there are the following conclusions.*

- (i) If $\gamma \in [\beta_1, \beta_2]$, then the sequence $\{X_n\}$ in (12) is monotonically increasing and converges to a positive operator solution $X_\gamma \in [\sqrt[t]{\gamma Q}, \sqrt[t]{\tilde{\alpha} Q}]$ to (1).
- (ii) If $\gamma \in [\tilde{\alpha}, 1]$, then the sequence $\{X_n\}$ in (12) is monotonically decreasing and converges to the maximal positive operator solution $X_L \in [\sqrt[t]{\beta_2 Q}, \sqrt[t]{\tilde{\alpha} Q}]$ to (1).

(iii) If $\gamma \in (\beta_2, \tilde{\alpha})$ and $(t/s)\|A\|^2 \leq (\beta_2 \lambda_{\min}(Q))^{(s+t)/s}$, then the sequence $\{X_n\}$ in (12) converges to the unique solution $X_L \in [\sqrt[t]{\beta_2 Q}, \sqrt[t]{\tilde{\alpha} Q}]$, where $\tilde{\alpha}$ and T are defined in Theorem 5.

Proof. Consider the function $f(x) = x^{t/s}(1-x)$, $x \in [0, 1]$. It is monotonically increasing on $[0, t/(t+s)]$ and monotonically decreasing on $[t/(t+s), 1]$, and

$$\max_{x \in [0, 1]} f(x) = f\left(\frac{t}{t+s}\right) = \left(\frac{t}{t+s}\right)^{t/s} \left(\frac{s}{t+s}\right). \quad (17)$$

Since $\lambda_{\max}(T^*T) \leq (t/(t+s))^{t/s}(s/(t+s))$, then, for each γ_1, γ_2 such that $0 < \beta_1 \leq \gamma_1 \leq \beta_2 < \tilde{\alpha} \leq \gamma_2 \leq 1$, the inequalities

$$\begin{aligned} \gamma_2^{t/s}(1-\gamma_2)I &\leq \lambda_{\min}(T^*T) \leq T^*T \\ &\leq \lambda_{\max}(T^*T) \leq \gamma_1^{t/s}(1-\gamma_1)I \end{aligned} \quad (18)$$

are satisfied.

(i) Let $\gamma \in [\beta_1, \beta_2]$. We will prove that the operator sequence $\{X_n\}$ in (12) is monotonically increasing and is bounded above.

According to the fourth inequality in (18), we compute

$$\begin{aligned} X_1^s &= Q - A^*(\gamma Q)^{-t/s} A \\ &= Q^{1/2} \left(I - \gamma^{-t/s} Q^{-1/2} A^* Q^{-t/s} A Q^{-1/2} \right) Q^{1/2} \\ &= Q^{1/2} \left(I - \gamma^{-t/s} T^* T \right) Q^{1/2} \geq \gamma Q = X_0^s. \end{aligned} \quad (19)$$

Assuming that $X_i^s \geq X_{i-1}^s$, then

$$X_{i+1}^s = Q - A^* X_i^{-t} A \geq Q - A^* X_{i-1}^{-t} A = X_i^s. \quad (20)$$

Therefore, $X_{i+1}^s \geq X_i^s$ for all $i = 0, 1, \dots$; that is, the sequence $\{X_n^s\}$ is monotonically increasing. Obviously $X_0^s = \gamma Q \leq \beta_2 Q \leq \tilde{\alpha} Q$. We suppose that $X_i^s \leq \tilde{\alpha} Q$; from the first inequality in (18), we obtain

$$X_{i+1}^s = Q - A^* X_i^{-t} A \leq Q - A^*(\tilde{\alpha} Q)^{-t/s} A \leq \tilde{\alpha} Q. \quad (21)$$

Hence, $\{X_n^s\}$ converges to a positive operator solution X_γ to (1). Since $X_i \in [\sqrt[t]{\gamma Q}, \sqrt[t]{\tilde{\alpha} Q}]$ for all $i = 0, 1, \dots$, we have $X_\gamma \in [\sqrt[t]{\gamma Q}, \sqrt[t]{\tilde{\alpha} Q}]$.

(ii) Let $\gamma \in [\tilde{\alpha}, 1]$. From the proving process of Theorem 6, the sequence (12) is monotonically decreasing. Since $X_0 = \sqrt[t]{\gamma Q} \geq \sqrt[t]{\beta_2 Q}$ and supposing that $X_i^s \geq \beta_2 Q$, it follows that

$$\begin{aligned} X_{i+1}^s &= Q - A^* X_i^{-t} A \geq Q - A^*(\beta_2 Q)^{-t/s} A \\ &= Q^{1/2} \left(I - \beta_2^{-t/s} Q^{-1/2} A^* Q^{-t/s} A Q^{-1/2} \right) Q^{1/2} \\ &\geq Q^{1/2} \left(I - \beta_2^{-t/s} \lambda_{\max}(T^*T) I \right) Q^{1/2} \\ &= \beta_2 Q. \end{aligned} \quad (22)$$

By induction principle, $X_i^s \geq \beta_2 Q$ hold for each $i = 0, 1, 2, \dots$. Hence, $\{X_n^s\}$ is convergent. From Theorem 6, $\{X_n^s\}$ converges to X_L^s such that $X_L \in [\sqrt[t]{\beta_2 Q}, \sqrt[t]{\gamma Q}]$.

(iii) Considering the sequence $\{X_n^s\}$ in (12) for $\gamma \in (\beta_2, \tilde{\alpha})$, that is, $X_0^s \in (\beta_2 Q, \tilde{\alpha} Q)$ and supposing that $X_i^s \in (\beta_2 Q, \tilde{\alpha} Q)$, then, for X_{i+1}^s ,

$$\begin{aligned} X_{i+1}^s &= Q - A^* X_i^{-t} A \\ &< Q^{1/2} (I - \beta_2^{-t/s} Q^{-1/2} A^* Q^{-t/s} A Q^{-1/2}) Q^{1/2} \\ &\leq \tilde{\alpha} Q, \\ X_{i+1}^s &= Q - A^* X_i^{-t} A \\ &> Q^{1/2} (I - \tilde{\alpha}^{-t/s} Q^{-1/2} A^* Q^{-t/s} A Q^{-1/2}) Q^{1/2} \\ &\geq \beta_2 Q. \end{aligned} \quad (23)$$

Hence, $X_i^s \in (\beta_2 Q, \gamma Q)$, for all $i = 0, 1, 2, \dots$. Now, we considering $\|X_{i+1}^s - X_i^s\|$,

$$\begin{aligned} \|X_{i+1}^s - X_i^s\| &= \|(Q - A^* X_i^{-t} A) - (Q - A^* X_{i-1}^{-t} A)\| \\ &\leq \frac{1}{s} \frac{1}{(\sqrt[s]{\beta_2 \lambda_{\min}(Q)})^{s-1}} \\ &\quad \times \frac{t \|A\|^2}{(\sqrt[s]{\beta_2 \lambda_{\min}(Q)})^{t+1}} \|X_i - X_{i-1}\| \\ &= \frac{t}{s} \|A\|^2 \frac{1}{(\sqrt[s]{\beta_2 \lambda_{\min}(Q)})^{t+s}} \\ &\quad \times \|X_i - X_{i-1}\|, \end{aligned} \quad (24)$$

and $(t/s)\|A\|^2 \leq (\beta_2 \lambda_{\min}(Q))^{(s+t)/s}$, it follows that $\{X_n\}$ in (12) is a Cauchy sequence in the Banach space $[\sqrt[s]{\beta_2 Q}, \sqrt[s]{\tilde{\alpha} Q}]$. Hence, it has a limit X_γ in $[\sqrt[s]{\beta_2 Q}, \sqrt[s]{\tilde{\alpha} Q}]$, and X_γ is a unique solution to (1) in $[\sqrt[s]{\beta_2 Q}, \sqrt[s]{\tilde{\alpha} Q}]$. According to Theorem 6, it is the maximal solution, that is, $X_\gamma = X_L$. The proof is completed. \square

Acknowledgments

This paper is supported by the NSF of China Grant no. 11171197 and by the Natural Science Foundation of Shaanxi Educational Committee Grant no. 12JK0884.

References

- [1] W. Pusz and S. L. Woronowicz, "Functional calculus for sesquilinear forms and the purification map," *Reports on Mathematical Physics*, vol. 8, no. 2, pp. 159–170, 1975.
- [2] J. C. Engwerda, "On the existence of a positive definite solution of the matrix equation $X + A^* X^{-\alpha} A = I$," *Linear Algebra and its Applications*, vol. 194, pp. 91–108, 1993.
- [3] W. L. Green and E. W. Kamen, "Stabilizability of linear systems over a commutative normed algebra with applications to spatially-distributed and parameter-dependent systems," *SIAM Journal on Control and Optimization*, vol. 23, no. 1, pp. 1–18, 1985.
- [4] R. S. Bucy, "A priori bounds for the Riccati equation," in *Proceedings of the 6th Berkeley Symposium on Mathematical Statistics and Probability*, vol. 111 of *Probability Theory*, pp. 645–656, University of California Press, Berkeley, Calif, USA, 1972.
- [5] V. I. Hasanov, *Solutions and perturbation theory of nonlinear matrix equations [Ph.D. thesis]*, Sofia, Bulgaria, 2003.
- [6] A. C. M. Ran and M. C. B. Reurings, "On the nonlinear matrix equation $X + A^* F(X) A = Q$: solutions and perturbation theory," *Linear Algebra and its Applications*, vol. 346, pp. 15–26, 2002.
- [7] V. I. Hasanov, "Positive definite solutions of the matrix equations $X \pm A^* X^{-q} A = Q$," *Linear Algebra and its Applications*, vol. 404, pp. 166–182, 2005.
- [8] A. C. M. Ran and M. C. B. Reurings, "The symmetric linear matrix equation," *Electronic Journal of Linear Algebra*, vol. 9, pp. 93–107, 2002.
- [9] K. F. Yang and H. K. Du, "Studies on the positive operator solutions to the operator equations $X + A^* X^{-t} A = Q$," *Acta Mathematica Scientia A*, vol. 26, no. 2, pp. 359–364, 2009 (Chinese).
- [10] Y. Yang, F. Duan, and X. Zhao, "On solutions for the matrix equation $X^s + A^* X^{-t} A = Q$," in *Proceedings of the 7th International Conference on Matrix Theory and Its Applications in China*, pp. 21–24, 2006.
- [11] Z.-y. Peng, S. M. El-Sayed, and X.-l. Zhang, "Iterative methods for the extremal positive definite solution of the matrix equation $X + A^* X^{-\alpha} A = Q$," *Journal of Computational and Applied Mathematics*, vol. 200, no. 2, pp. 520–527, 2007.
- [12] Y. Yueting, "The iterative method for solving nonlinear matrix equation $X^s + A^* X^{-t} A = Q$," *Applied Mathematics and Computation*, vol. 188, no. 1, pp. 46–53, 2007.
- [13] V. I. Hasanov and S. M. El-Sayed, "On the positive definite solutions of nonlinear matrix equation $X + A^* X^{-\delta} A = Q$," *Linear Algebra and its Applications*, vol. 412, no. 2-3, pp. 154–160, 2006.

